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runner$ cat freq_struct.c
/* Cal culate fequencies of letters in an input file */
#i ncl ude <stdi o. h>
#i ncl ude <ctype. h>
struct table_tag {
char letter;
int count;

voi d bubbl e(struct table tag table[]);
voi d swap(struct table tag *tablel,
struct table_tag *Hmc_mmv
d printfreg(struct table tag Hmc_mﬁ__ int tot);

VO

voi d mai n(voi d)

{
struct table_tag tabl e[ 26];
int i; /* index for lc array */
int tot = 0; /* total nunber of al pha characters */
int ch; /* int so that EOF will work */
for (i =0; i < 26; i++) {
tabl e H__ letter = (char) (i +'a);
table[i].count = O;
}
while ((ch = getchar()) !'= EOF)
if (isalpha(ch = tolower(ch))) {
t ot ++;
table[ch - "a'].count ++;
}
bubbl e(t abl e);
printfreq(table, tot);
}

/* bubble: sort Ic array into decreasing order
Carry alf along */
voi d bubbl e(struct table_tag table[])

{
int i, dum
for (dum = 0; dum < 25; dumt+)
for (i =0; i < 25; i++)
if (table[i].count < table[i+1].count)
swap(&t able[i], & able[i+1]);
}

/* swap: interchange two structs */
voi d swap(struct table tag *tablel,
struct table tag *ﬁmc_mmv

struct table tag tenp;
tenp = *tabl el;
*tabl el = *tabl e2;

*t abl e2 tenp;

/* printfreq: print out the frequency table */
void printfreq(struct table tag table[], int tot)

{

"Frequency of letters, out of total: %\ n\n"

" Letter Frequency (%9\n");

=0; i < 26; i++)

intf("%c %3.3f%®an", table[i].letter,
Aaocc_mVHmU_mﬁ_u.ooczﬁ\ﬁoﬁ*poo.ov“

}

runner$ freqg_struct

AaAaA

bbbBBbbbbb

Zz27727777277z772zz (ctrl-D)

Frequency of letters, out of total: 30

Letter Frequency (%
z 50. 000%
b 33.333%
a 16. 667%
runner% cat freq_typedef.c
/* Calculate fequencies of letters in an input file */
/* Variation using typedef */
#i ncl ude <stdio. h>
#i ncl ude <ctype. h>

typedef struct {
char letter;
int count;

} table_type;

voi d bubbl e(tabl e type table[]);
voi d swap(table_type *tablel,
tabl e type *table2);
void printfreq(table type table[], int tot);

voi d mai n(voi d)

{
tabl e_type tabl e[ 26];
int i; /* index for Ic array */
int tot = 0; /* total nunber of al pha characters */
int ch; /* int so that EOF will work */

:::o__ANQ_ivﬁ
ﬁmc_ H_H _mﬁﬂmqnﬁo:mqVA_+_m_v“
table[i].count = O;



\*
VOi

\*
VOi
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le ((ch = getchar()) !'= EOF)

ﬁ A_mm_v:mﬁo: = tol ower(ch))) {
t H++
Hmc_mﬂo: "a'].count ++;

}
bubbl e(t abl e);

printfreq(table, tot);

bubbl e: sort Ic array into decreasing order
Carry alf along */

i d bubbl e(table_type table[])

int i, dum
for (dum = 0; dum < 25; dumt+)
for (i =0; i < 25; i++)
if (table[i].count < table[i+1].count)
swap(&table[i], & able[i+1]);

swap: interchange two structs */
d swap(tabl e _type *tablel, table type *table2)

tabl e_type tenp
tenp = *tabl el;
*tablel = *tabl e2;
*tabl e2 = tenp;

printfreq: print out the frequency table */
d printfreq(table_type table[], int tot)

int i;
printf("Frequency of letters, out of total: %\ n\n",
tot);
printf(" Letter Frequency (%9\n");
for (i =0; i < 26; i++)
printf("%c %43.3f®an", table[i].letter,
Aaocc_mVHmU_mﬁ__.oocsﬁ\ﬂoﬂ*poo.ov“

runner% cat freq_sinp.c

/* Cal culate fequencies of letters in an input file */
/* Variation using sinple global arrays */

#i ncl ude <stdio. h>

#i ncl ude <ctype. h>

char letter[26];

int count[26];

/* bubble: sort Ic array into decreasing order. */
voi d bubbl e(voi d)

{
int i, dum
for (dum= 0; dum < 25; dumt+)
for (i =0; i < 25; i++)
if (count[i] < count[i+1]) {
int temp = count[i];
char tenpc letter[i];
count[i] = count[i +1];
letter[i] letter[i+1];
count[i+1] = tenp;
letter[i+1l] = tenpc;
}
}

/* printfreq: print out the frequency table */
void printfreq(int tot)

{
int i;
printf("Frequency of letters, out of total: %\ n\n",
tot);
printf(" Letter Frequency (9%49\n");
for (i =0; i < 26; i++)
printf("%c %43.3f®an", letter[i],
Aqocc_mvooc:HH__\HoH*Hoo.ov“
}
voi d mai n(voi d)
{
int i; /* index for lc array */
int tot = 0; /* total nunber of al pha characters */
int ch; /* int so that EOF will work */
for (i =0; i <26; i++) {
letter[i] = (char) (i + 'a);
count[i] = O;
}
while ((ch = getchar()) != EOF)
if (isalpha(ch = tolower(ch))) {
t ot ++;
count[ch - ’a']++;
}
bubbl e() ;

printfreq(tot);



